E & @ & i%i drei Briiche, Deikmal, Operationsreihenfolge mit
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Name: Datum: Ergebnis:

27 9 8

— —=-)+9= - +10)+4=

G- (3 +10)

3(1_33): (5-2,9)x4,7=

4 2

(2+5,9)%4,6= G-y 1o
5 3

2+5,5)%x3,4= S 5.,

( ) (8+Z)_ =

84 7 1

—+ )7 = +2,2)x ==

(+3) (5+2,2)% 3
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drei Briiche, Deikmal, Operationsreihenfolge mit

Klammern
Name: Datum: Ergebnis:
27 9 5 8 29
——=)=9=- -+10)+4=—
(2 4) 4 (5 0) 10
1 183 987
3(2 3,3)=( E) (5_2’9)X4’7_W
1817 1 1 14
2+59)x4,6=—— 3— - - = —
(2+5,9) x4, %0 ( 5)><3 75
51 5
2+5,5)%x3,4=— Z+I)y+5="2=
84 7 13 | 18
— to)+7=— 542,2)X —= —
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